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ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

6=05=2 gu/ :tl/o

1=gfnf ld^/

j*f g+= 1 g]tf dfu{df cw"/f]

gfnf
1000000.00 0.00

j*f g+= 1 /fdnId)f dfu{df

cw"/f] gfnf
1000000.00 0.00

j*f g+= 5 k|utLdfu{d cw"/f]

gfnf-k||utL ^f]n_
700000.00 0.00

j*f g+= 1 lqj]l)f dfu{ cw"/f]

gfnf 
500000.00 0.00

j*F g+= 1 sfd{rf/L dfu{sf]

cw"/f] efu
200000.00 0.00

j*f g+= 1 ;f}uftdfu{df gfnf

lgdf{)f
200000.00 0.00

j*fg+ 6 hfu|LtLdfu{df gfnf 500000.00 0.00

j*f g+= 1 lrlgofsfhL dfu{df

gfnf
500000.00 0.00

j*f g+= 5 tdf]/dfu{df cw'/f]

gfnf ;*s lgdf{)f
800000.00 0.00

j*f g+= 5 l;$]:j/ dfu{df

gfnf cw"/f]
800000.00 0.00

j*f g+= 5 cf:tf dfu{ 500000.00 0.00

j*f g+= 4 lzlen dfu{df

gfnf lgdf{)f cw"/f]
800000.00 0.00

j*f g+= 4 cf]ddfu{df gfnf 200000.00 0.00

j*f g+= 15 hgky dfu{df

cw"/f] gfnf
500000.00 0.00

k"jf{wf/ 

ljsf;

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

progress 1st Qrarterly 1
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k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 5 xfdf|] g/l;x sn]n

blIf)f e)*f/Lsf] #/ ;Dd
300000.00 0.00

j*f g+= 1 ;u/dfyf dfu{df

cw"/f] gfnf lgdf{)f
200000.00 0.00

j*f g+= 1 zfGtfdfu{df

cw|/f]gfnf ;*s
600000.00 0.00

j*f g+= 1 ?b|fIfdfu{df

cw"/f]gfnf-lr/GlhjL_
500000.00 0.00

j*f g+= 4 e]'lkdfu{df

cw"/f]gfnf
500000.00 0.00

j*f g+= 11 ;Gwofdfu{ gfnf

lgdf{)f
500000.00 0.00

j*f g+= 16 kz"klt^f]ndf

gfnf lgdf{)f
500000.00 0.00

j*f g+= 4 k|sfz]Zj/ dfu{

gfnf
500000.00 0.00

j*f g+= 6 zfGlt^f]n gj/fh

z"Ajfsf] #/ hfg] jf^f]

cw"/f]gfnf

100000.00 0.00

j*f g+= 15 hg;xof]udfu

cw"/fgfnf tyf ;*s ;"wf/

400000.00 0.00

j*f g+=6 /dfOnf]dfu{df gfnf 
200000.00 0.00

j*f g+=4 ;d'bfo ky ;'wf/
700000.00 0.00

j*f g+=10ux]nLdfu{df gfnf 500000.00 0.00

j*f g+=1j]nuf%L u ^f]ngfnf
500000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 2
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k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+=1 ;u/dfyf dfu{

j]nuf% s ^f]ngfnf
500000.00 0.00

j*f g=3nIdLgf/fo)f dfu{

cw"/f]gfnf 
300000.00 0.00

j*f g+=6 lzz"kydf gfnf 200000.00 0.00

0 15200000.00 0.00 0 0 0 0 0 0 0 0 0

6=05=7 j*f :t/Lo of]hgf -

gfnf_

1=gfnf

j*f g+= 1

wd{zfnf^f]n;+u&gsf]] hfgsLdfU{

l/^]lg*=jfn tyf u|e]n
200000.00 0.00

lqj]l)f v ^f]n ;+u^gdf

d+unfb]lj dfu{sf cw"/f]gfnf 
4000000.00 0.00

j]nuf%L v /+uzfnfdfu{ cw"/f]

gfnf tyf ;*s ;"wf/

250000.00 0.00

j*f g+= 2

ck'j{dfu{sf] vfg]kflg / gfnf

lgdf)f{
100000.00 0.00

;ddfu{ ;'/]; j:g]tsf] #/

jf^f lg? (sfnsf] #/ ;DDf

gfnf 

50000.00 0.00

 ltgk}lg dfu{ xf]dgfy  -

OGlb/f j:g]tsf] #/ b]vL 

;+ho j?jfnsf] #/ ;Dd 

gfnf sne^ u|fe]n

400000.00 0.00

k"jf{wf/ 

ljsf;
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cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
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s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

 zf:qLdfu{df cw"/f]gfnf 

k"/fug]{ 
200000.00 0.00

j*f g+=3

z+s/k"/ k|f=lj=sf] jf^f] 

wgdfof ky df gfnf u|fe]n

200000.00 0.00

gf/fo)f ldn b]vL vltj*f 

#/ ;Dd cw"/f] gfnf lgdf{)f 

ug]{

150000.00 0.00

j*f g+=6

l;$fy{ dfu{ gof+ gfnf 

;Demgf ^f]n 
300000.00 0.00

cf]d gu/ ^f]n kSsf gfnf, 

u|fe]n d"Vo jf^f]
300000.00 0.00

j*f g+=7

cgfd gu/ gfnf u|fe]n 150000.00 0.00

nf]s lk|of dfu{ ;Ltfk"/ gfnf
300000.00 0.00

ljhok"/ cw"/f] gfnf 300000.00 0.00

wd{eQ dfu{ gfnf u|fe]n 150000.00 0.00

j*f g+= 10
;"uGwdfu{ ;"j)f{ s]=;L= sf] 

#/ ;lrg kf]v/]n ;Dd 

kSsL gfnf

200000.00 0.00

;/:jlt ^f]n  ufoqL dfu{ 

;+tf]if kf]v/]nsf] #/ b]vL k"j{ 

l;=lj= cf/ %]psf] sne^{ 

;Ddsf] cw""/f] gfnf 

200000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 4
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rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

wd{eQ ^f]n z}n]Gb| s*]nsf] 

#/ b]vL gf/b ltj/Lsf] #/ 

;Dd kSsL gfnf 

200000.00 0.00

;":jfutd dfu{ k"?iff]Qd 

k/fh"lnsf] #/ b]vL b"uf{ 

e^\/fO{sf] #/ ;Dd ck"/f]gfnf

200000.00 0.00

j*f g+= 15

cnsf j"$ dfu{ kSsL gfnf 
200000.00 0.00

/fdzxf ky klZrd kSsL 

gfnf
200000.00 0.00

sljtf lg/f}nfsf] cnsf ^f]n 

klZrd jf^]fdf kSsL gfnf

200000.00 0.00

hg;xof]h dfu{ ;"/]z 

kf;jfgsf] #/ b]vL kSsLgfnf 

lgdf)f{
150000.00 0.00

h]lgon xf]^n k"j{ gjHof]tL 

dfu{ x"b} ld/f cof{nsf] #/ 

;Dd kSsL gfnf 

350000.00 0.00

j*f g+= 17
cltyL ^f]n ljsfz dfg a 

n"uflnsf] #/ ;Dd kSsL 

gfnf

150000.00 0.00

j*f ;ldlt sfo{no pQ/ 

;}lgs dfu{df jfsL /x]sf] 

l/^]lgË jfn 

150000.00 0.00

k"jf{wf/ 

ljsf;
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rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

hosfnL ^f]=lj=;=jfsL /x]sf] 

cw"/f] kSsL gfnf / 

lgl;jnfn #/ jf^ lgd{nfsf] 

#/ ;Dd u|fe]n

150000.00 0.00

kfljqf dfu{df clejfbg 

^f]=lj=;= -s_ sf] jf^f]dd{t 

tyf gfnfdf (sg

100000.00 0.00

dx]z dfu{sf] b"j} tkm{ kSsL 

gfnf z}lgs ^f]=lj=;= 

cGt/ut

150000.00 0.00

kflye/f dfu{df slkndl)f 

kf}*]n #/ ;Dd gfnf sne^

150000.00 0.00

j*f g+= 18
d}gfnLsf] #/ b]vL k"j{ 

w/djfw ;Dd u|fe]n dd{t / 

gfnf

200000.00 0.00

j*f g+= 20
lji)f" clwsf/Lsf] #/ b]vL 

pQ/ tkm{ dlGb/ ;Dd cw"/f] 

gfnf

200000.00 0.00

sdn >]i& #/ pQ/ tkm{ 

rGb|]Zj/ ;Dd kSsL gfnf
200000.00 0.00

dfxfdof eujlt k|f=lj= u]^ 

b]vL d]g/f]* ;Dd kSsL gfnf

225000.00 0.00

j*f g+= 22
lbks /fd dfns /fO{ / 

ljho sfsL{sf] #/sf] %]p 

ljr jf^ k""""""""""""""""""SsL gfnf 

200000.00 0.00

k"jf{wf/ 

ljsf;
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k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo
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s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

/fd k"sf/ ;fxfsf] #/ b]vL 

lzjnfn ;fxfsf] #/ ;Dd 

kSsL gfnf 

200000.00 0.00

ukm"/ ^f]ndf jfsL /x]sf] 

kSsL gfnf
200000.00 0.00

11225000.00

6=05=7 j*f :t/Lo of]hgf 

2=u|fe]n

j*f g+= 1

lzj k|f=lj= hfg] jf^f]df

u|fe]n 
150000.00 0.00

lqj]l)f u ^f]n ljsf;

;+:yfsf] uf}/Ldfu{df u|fe]n
100000.00 0.00

j*f g+= 2

 u]?dfu{ ;*sdf u|Fe]n  ug]{ 100000.00 0.00

lzlz/ dfu{sf] blIf)f sf]

jf^f] df u|fe]n ug]{ sfd
100000.00 0.00

j*f g+= 4

nlIddfu{ dbg gu/ -^+s

lg/f}nfsf] #/ hfg] jf^f] df

u|fe]n

200000.00 0.00

cf}ifwL ljefu k"j{ lelq ky

hfg] jf^f] g/ a= e)*f/L

u|fe]n

150000.00 0.00

k[YjL ^f]n ;kmndfu{ -x/L

k/fh"ln_ u|fe]n
150000.00 0.00

k"jf{wf/ 

ljsf;
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k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

gd"gf dfu{ hgtf n SoDk; -

^+s a=du/_ u|fe]n
300000.00 0.00

eljGb| ltlD;gf dfu{ / x/L

kf)*] dfu{ vfg]kflg b]vL gx/

;Dd u|fe]n

200000.00 0.00

c;g^f]n k|j]z dfu{ -k"ikf

yfkf_ u|fe]n ug]{
200000.00 0.00

ljGWof jl;gL dfu{ leqL ky -

/]jt sfsf]{_ u|fe]n
100000.00 0.00

;Ddfg k|utL ;[hgl;n dfu{ -

dfq[sf (sfn_ u|fe]n
200000.00 0.00

lul/hfdfu{ -gf/fo)f k/fh"ln_

u|fe]n
150000.00 0.00

l;lendfu{ leqL ky / cf/lt

lbofnf]dfu{ u|fe]n
150000.00 0.00

j*f g+= 5

s+rgjf*L lg=df=lj= pQ/ t]h

a= sfsf]{sf] #/ klZrdsf]

jf^f] u|fe]n

150000.00 0.00

z"s|jf/] u"h"{wf/fdfu{ sl/j

u|fe]n
300000.00 0.00

yflg dlGb/ k"j{ /fd sfhL

yfkfsf] #/ x"b} /Iffdfu{ ;Dd

u|fe]n 

200000.00 0.00

hfd"gu%L dgf]h zflxsf] #/

b]vL bfxfnsf] #/ ;Dd

u|fe]n

200000.00 0.00

vfg]kflg %]p &fs"/ dfu{

u|fe]n
300000.00 0.00

k"jf{wf/ 

ljsf;
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cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

P/kf]^{ dfu{ k"nrf]s pQ/

u|fe]n 
200000.00 0.00

cRot ldn c?)fdfu{ u|fe]n 250000.00 0.00

;"s|jf/] PsnAo dfu{ u|fe]n 200000.00 0.00

j*f g+= 6

z+s/j/L ^f]n ljsf; ;+:yf

;*s u|fe]n
200000.00 0.00

hnkf dfu{ u|fe]n, sne^{,

cf]d gu/ ^f]n
300000.00 0.00

hgcfGbf]ng dfu{ u|fe]n k[YjL

^f]n
200000.00 0.00

cfbz{ ^f]n ;*s u|fe]n 100000.00

>j)f dfu{ u|fe]n ;Demgf dfu{ 150000.00 0.00

k")ff]{df dfu{ u|fe]n sf]n?jf

^f]n
100000.00 0.00

gj l;h{gf dfu{ u|fe]n 150000.00 0.00

lj/f^sf]ck/]l^esf] k%f*L

jneb| ^f]n u|fe]n 
150000.00 0.00

j*f g+= 7 

cgfd gu/ gfnf u|fe]n 150000.00 0.00

ljxfgLdfu{ u|fe]n -dx]zsf] #/

b]vL hfg"sfsf] #/ ;Dd_
150000.00 0.00

hfgsLdfu{ u|fe]n 150000.00 0.00

lblnk ;xgLsf] #/ b]vL /lj

;fxsf] #/ ;Dd u|fe]n
150000.00 0.00

k"jf{wf/ 

ljsf;
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cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

lzj dlGb/ ^f]n /fdk"/ u|fe]n 150000.00 0.00

/fd k|=sf] #/ b]vL ch"{gsf]

#/ ;Dd u|fe]n
150000.00 0.00

j|xd yfg dlGb/ klZrd

u|fe]n 
150000.00 0.00

wd{eQ dfu{ gfnf u|fe]n 150000.00 0.00

j*f g+= 11

alNdsL jf]*L+u cuf*L k|x|b

e^\/fO{sf] #/ ;Dd u|fe]n
50000.00 0.00

k+rd""vL -hgs dfu{ blIf)f_

lbg]z &fs"/sf] #/ hfg] jf^f]

u|fe]n

50000.00 0.00

eujlt ("u]+nsf] #/ b]vL /fhg

k&ssf] #/ ;Dd u|fe]n
50000.00 0.00

:jutd rf]s b]vL %&L d}ofsf]

dlGb/ ;Ddsf] jf^f] u|fe]n]{
150000.00 0.00

afn uf]kfn rf]s blIf)f jf^

k"j{ tkm{ d":nLd j:tL ;Dd

jf^f] u|fe]n

150000.00 0.00

xg"dfg dlGb/ k"j{ o"u]Zj/

d]xtfsf] #/ ;Dd u|fe]n
100000.00 0.00

/fhj+zL rf]s b]vL l;tf/fd

zfxfsf] #/ x"b} :jutd rf]s

;Dd u|fe]n 

150000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 10



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

czf]s d"lvofsf] #/ b]vL jGbf

/fhj+zLsf] #/ ;Dd u|fe]n 
75000.00 0.00

cd/;]jfdfu{ sf] cd/;]jf

;ldlt b]vL k"j{  uf|e]n ug]{ 
175000.00 0.00

j*f g+= 15

hgky k}ofkfgLdf u|Fe]n ug]{ 60000.00 0.00

j"$ljxf/ dfu{ blIf)f /fh"

kf;jfgsf] #/ ;DDf u|fe]n
50000.00 0.00

/fdzfxfky dfu{ b]vL pQ/

tkm{ df dl)f bfxfnsf] #/

%]odf u|fe]n 

50000.00 0.00

j*f g+= 16

j+h/udfu{sf] zfvf ;*sdf

uf|e]n
100000.00 0.00

d)*n ^f]n l;of/fd /fd sf]

#/ cuf*L u|fe]n 
150000.00 0.00

j*f g+= 17

hosfnL ^f]=lj=;=jfsL /x]sf]

cw"/f] kSsL gfnf / lgl;jnfn

#/ jf^ lgd{nfsf] #/ ;Dd

u|fe]n

150000.00 0.00

lji)f" j:g]t sf] #/ b]vL k"j{

u+uf v*\sfsf] #/ ;Dd u|Fe]n
100000.00 0.00

j*f g+= 18

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 11



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

uf}zfnf ^f]n df]= x";]gsf]

#/b]vL rDkf >]i&sf] #/;Dd

u|fe]n

150000.00 0.00

l/dd zdf{sf] #/ b]vL blIf)f

cfo"j ldofsf] #/ ;Dd df^f]

k"/L u|fe]n

200000.00 0.00

j"w" ofbjsf] #/ b]vL l;l#of

gbL ;Dd df^f] k"/L u|fe]n
200000.00 0.00

j*f g+= 22

O:nfdk"/ b]vL lxdfno

/fO;ldn ;Dd u|fe]n 
300000.00 0.00

9060000.00

6=05=6dd{t ;+ef/ sf]if -

;*s jf]*{_

2= u|fe]n

e_ j*f g+ 4 jn/fd dfu{  0.00

o_ j*f g+= 1 z+s/rf]s b]lv

k'j{ lzjd+bL/;Dd
0.00

6=05=2 gu/ :tl/o

3= lkr

j*f g+= 15 lzj jfjf dfu{

cw"/f] lkr 
600000.00 0.00

j*f g+= 15 b]p/fln dfu{df

lkr
800000.00 0.00

j*F g+= 4 k|lts dfu{df lkr 400000.00 0.00

j*f g+ 6 s}nf;k"/L dfu{df

lkr
500000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 12



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 7 k|flrg dfu{df lkr 500000.00 0.00

j*f g+= 5 xfd|f] c:ktfn

pQ/jf^ klZrd hfg]jf^ lkr
900000.00 0.00

j*f g+= 1 ?b|fIf dfu{df cw"/f]  1000000.00 0.00

j*f g+= 3 sf]zL SofDk; k|]d

sfsL{sf] #/;Dd lkr
300000.00 0.00

5000000.00

6=05=5 hu]*fsf]iful/g] of]hgf

3= lkr

1= j*f g= +5 ;Ktsf]zL

dfu{df gfnf tyf ;*s
5000000.00 0.00

2= j*f g+= 4 pbo dfu{df

lkr ;*s
5000000.00 0.00

3= j*f g+= 3 ;f}uft dfu{df

lkr 
5000000.00 0.00

4= j*f g+= 4 dfgu*dfu{df

;*s
5000000.00 0.00

5= j*f g+= 2 ltgk}gL dfu{

;"wf/
5000000.00 0.00

6= j*f g+= 22 /fhf

lj/f^dfu{df gfnf tyf ;*s 
5000000.00 0.00

30000000.00

6=05=7 j*f :t/Lo of]hgf

3= lkr

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 13



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 3 
sdn kf]v/L dfu{sf] cw"/f] 

dfu{ ;okqL uf]lkgfy dfu{ 

x"b} d]g/f]* ;Dd lkr

300000.00 0.00

nIdL gf/fo)f dfu{ u|fe]n 

;lxtsf] sfnf] kq ug]{
150000.00 0.00

j*f g+= 18

dnfo/f]* b]vL k"j{ wd{jfw 

/f]* ;Dd u|fe]n tyf lkr
200000.00 0.00

j*f g+= 22

nfO{g Sjf^/df pQ/ k§Lsf] 

jf^f] sdfn ldofsf] #/ %]p 

x"b} jsLn ldofsf] #/ x"b} 

dG;"/L ^f]n d]g j^f] %"g] 

lkr jf^f] / kSsL gfnf 

200000.00 0.00

850000.00

6=05=6dd{t ;+ef/ sf]if -

;*s jf]*{_
14300000.00 0.00

3= lkr d{dt

j*f g+= 1 sfdfIf dfu{

j*F g+= 1 ;"of]bo dfu{

j*f g+= 3 ;f]djf/] dfu{

j*f g+= 4 uf]w"nL dfu{

j*f g+= 4 Hof]tL dfu{

j*f g+= 5 vfhf]{ sf]xj/f dfu{

j*f g+= 7.15 s]zlnof dfu{

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 14



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 10 ufoqL dfu{

j*f g+= 7 k|]/)ffdfu{

j*f g+= 11 ho g]kfn dfu{

j*f g+= 11 jfndfu{ 

j*f g+=+ 11 dx]Gb| ljBfno

pQ/ k"j{ 

j*f g+= 15 j"$ljxf/dfu{{

l;=cf/=lj=klZrd

j*f g+= 16 k+rd"vL rf]s led 

rf]s {

j*f g+= 22 /#"klt ldn b]vL

Pj"n ldofsf] #/ ;Dd

j*f g+= 1 hgtf dfu{{ -gj]n

*]/L hfg] ;*s_

km_ /flg ;*s 

j*f g+ 16 l;lsofxL dfu{  

j*f g+= 1 g]tf dfu{

6=05=7 j*f :t/Lo of]hgf

4= sne^{

j*f g+= 1

kflg^+sL ^f]n ;+u&gdf kg]{

jf^f]sf] sne^{ 
120000.00 0.00

/fdnId)fdfu{ z+s/rf]s b]vL

pQ/ ;d|f^ dfu{ hf]*g] sne^{

120000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 15



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

g]tf dfu{df sne^{ b"O{ yfg

1 ;lrg lwld/] / csf]{ lbJof

j:g]tsf] #/ cuf*L

240000.00 0.00

 lqsf])f dfu{df sne^{ . 120000.00 0.00

j*f g+= 2

;]G^hf];]km :s"n d"n u]̂

klZrd lzIff dfu{sf] sne^

75000.00 0.00

z+;f/LdfO :yfg klZrd jf^

pQ/ hfg] jf^f] sne^

75000.00 0.00

 ltgk}lg dfu{ xf]dgfy  -

OGlb/f j:g]tsf] #/ b]vL 

;+ho j?jfnsf] #/ ;Dd 

gfnf sne^ u|fe]n

200000.00 0.00

j*f g+= 11
b]j]Gb| sf]O/fnfsf] #/ k"a{ 

;"Gb/ dfu{ hfg] jf^f]df 

sne^{

120000.00 0.00

jb|Lgf/fo)f dfu{sf] zfvf 

jf^f] l^sf/fd j:g]t / kbd 

j= clwsf/Lsf] larsf] jf^f]df 

sne^{

130000.00 0.00

j*f g+= 15

dx]Gb|dfu{ b]vL /f}lgof/ ;]jf 

;dfh hfg] jf^f]sf] sne^ 

100000.00 0.00

j"$ ljxf/ dGlb/ cufl* 

sne^ lgdf)f{
100000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 16



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

 lzjjfjf dfu{df sne^ 10000.00 0.00

j*f g+= 16

l;lsofxL z"""""""""""""""""""""""""""""""""""""""""""""""""""l;nfdfu{df ;*s 

uf|e]n / 2 yfg sne{^ 

300000.00 0.00

k|Nxfbdfu{df sne^{ lgdf{)f / 

u|fe]n ug]{ .
200000.00 0.00

u""?dfu{df sne^{ lgdf{)f 125000.00 0.00

hfu[ltdfu{df sne^{ lgdf{)f -

lkr tkm{_
125000.00 0.00

b""uf{gGb sfdtsf] #/ cuf*L 

sne^{ lgdf{)f / u|fe]n 

200000.00 0.00

x/]/fd sfdtsf] #/ cuf*L 

u|fe]n tyf sne^{ lgdf{)f 

200000.00 0.00

hf]uL dlnof sf] #/ 

cuf*Lsf] ;*s u|fe]n / 

sne^{

200000.00 0.00

k^jf/L rf}sdf 1 yfg 

sne^{ / u|fe]n
200000.00 0.00

j*f g+= 18

;/:jtL rf}s b]vL klZrdsf] 

jf^f] sne^{ / u|fe]n 

200000.00 0.00

j*f g+= 20

zflGt ^f]ndf hfg] jf^f]df 

sne^{ lgdf{)f
125000.00 0.00

3285000.00

6=05=2 gu/ :tl/o

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 17



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

5= ejg

j*F g+= 1 o'gfO{^]* :kf]l^é

Snjsf] ejg
300000.00 0.00

j*F g+= 13 j*f ;ldlt

ejgsf] tNnf yk
800000.00 0.00

j*f g+ 10 :d;fg #f^ 500000.00 0.00

j*f g+= 4 sf] u)f]z dGbL/ 150000.00 0.00

j*f g+= 18 /fd hfgsL

dlGb/ cw"/f] ejg tyf kvf{n 
200000.00 0.00

1950000.00

6=05=5 hu]*fsf]iful/g] of]hgf

5= ejg

7= j*fg+ 11 kz'jw zfnf

lgdf)f{
5000000.00 0.00

8= j*f g+= 10 Osf] kmfp)^]g

kfs{ / ;efu[x ;d]t
5000000.00 0.00

10000000.00

6=05=7 j*f :t/Lo of]hgf

5= ejg

j*f g+= 18 cfo{ ;dfh j]b

dlGb/ lgdf{)f 
150000.00 0.00

j*f g+= 20 /flg o"jf Snjdf

cw"/f] lgdf{)f sfof{nfO{

lg/Gt/tf 

100000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 18



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 15 hgky pRr

df=lj  nfO{ kmlgr/sf] nfuL
50000.00 0.00

j*f g+= 15 c?)ff]bo lg=df=lj

nfO{ kmlgr/sf] nfuL
40000.00 0.00

340000.00

6=05=7 j*f :t/Lo of]hgf

6= (nfO{ jf^f]

j*f g+= 20 lj/]Gb| nfdf #/

b]vL /flg ky ;Dd lju|]sf]

(nfO{ ;*s 

100000.00 0.00

j*f g+= 22 lk=l;=l;= (nfO{ 

/ gfnf zflGt kf}*]nsf] #/ 

b]vL ld>L nfn d)*nsf] #/ 

;Dd lk=;L=;L= (nfO{ / gfnf 

200000.00 0.00

300000.00

6=05=7 j*f :t/Lo of]hgf

7= vfg]kfgL 

j*f g+= 2 zlxb dfu{ b]vL

lzIff dfu{ ;Dd vfg]kfgL sf]

Aoj:yf 

100000.00 0.00

j*f g+= 2 ck"j{ dfu{sf]

vfg]kfgL / gfnf lgdf)f{ 
100000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 19



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

j*f g+= 11 afn uf]kfn

^f]n ;+ud dfu{ r)*Ls

sfsf]{sf] #/ b]vL blIf)f

vfg]kflg  

250000.00 0.00

450000.00

6=05=8 sfof{no ejg lgdf{)f

tyf dd{t ;Def/
4000000.00

6=05=6 dd{t ;+ef/ sf]if

1= sNe^{, :nfe tyf jf^f]

cGo dd{t -/f=;=;=sf] ejg

dd{t ?=3 nfv ;d]t_

6000000.00 0.00 433104.00

2= j;jfs{ dd{t 2000000.00 0.00

3= j*F ;ldlt . sfof{no

ejg dd{t ;"wf/
3000000.00 0.00

11000000.00

8=01=2=1 afnd}qL ljBfno 

ef}lts k'jf{wf/ tn pNn]lvt 

;d]t - vfg]kfgL, zf}rfno, 

kmlg{r/, sIFfsf]&F, afnd}qL 

sIF tyf j;fO{ Joj:yfkg, 

sDkfp)* #]/fjf/f tyf 

dd{t ;""wf/ ;d]t 25 

k|ltzt ;xefuLtf ;+rfng 

x"g] of]hgf

1625000.00 0.00

k"jf{wf/ 

ljsf;

progress 1st Qrarterly 20



cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

1= l;$sfnL k|f=lj= lj/f^gu/ 

6  ?= 100000.00

2= lj/f^ dx]Gb| /fqL df=lj= 

kmlg{r/  ?= 50,000.

3= kf]vl/of p=df=lj= h]g]/]^/ 

vl/b ?= 1,50,000 .

4= j]b ljBf c>d 

lj/f^gu/ 16 kf~rfln / 

nLIdgf/)f j]b ljBf cf>d 

lj/f^gu/ 5 ?= 200000
5= dbzf{ ;xaflhof df=lj=  

lj/f^gu/ 7 ?= 50000

6= hgky df=lj= 15 nfO{ 

?= 100000.

7= ufoqL ;+:s[t df=lj= 

lj/f^gu/ 10  100000.

8= efg'df]/+u k|f=lj= 

lj/f^gu/ 13 zf}rfno 

?=125000.
9= !fg lgs"Gh k|f lj 

lj/f^gu/ 11 ?=100000.

k"jf{wf/ 

ljsf;
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cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

10= ljBfnox?sf] :ynut 

lgl/If)Fsf] cfwf/df 

cfjZostf jdf]lhdsf] 

zf}rfno, o"l/gn, r]GhL+*= 

sIf, xft w'g] :yfgsf]  

lgdf{)f, vfg]kflg Joj:yfkg / 

v]nd}}bfg Joj:yfkg 

?=3,50,000.
11= afn k":tsfno tyf 

jfrgfno / gu/:t/Lo ;'rgf 

s]Gb| ljsf; ?=200000.

12= j*f g+= 10 ldgL h" 

lgdf{)f
1000000.00 0.00

8=01=9=2 :jf:Yo ;DjwL 

k''jf{wf/ ljsf; tkm{ 

1= :g]x jfnd}qL k|fylds 

:jf:Yos]Gb| lgdf{)F j*f g+=16 

/ gu/:jf:Yo s]Gb| 6 ejg 

lgdf{)fsf qmdfut / ufp+#/ 

lSnlgs j*f g+= 22 nfO{ ?=1 

nfv krf; xhf/ dfq_

4000000.00

cGo

ut jif{sf] bfloTj

wfldyfgdf u|fe]n 89982.00 78983.00

efg'df]/*= k|f=lj= 240000.00

k"jf{wf/ 

ljsf;
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cf=j= 2072.2073

kl/df)f jh]^ kl/df)f jh]^ kl/df)f vr{ kl/df)f vr{
lk%l*Psf] 

ju{
cGo ju{

lk%l*Psf] 

ju{
cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

rf}dfl;ssf] k|ult
k|ltj]bg cjlw ;Ddsf] 

k|ult -Cumulative_
lqmofsnfksf] ljj/)f O{sfO{

jflif{s nIf rf}dfl;s nIo

nfeflGjt hg;+Vof

s}lkmot
k"?if dlxnf

cg";"rL 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_ sf] v)* -u_ ;+u ;DjlGwt

lj/f^gu/ pkdxfgu/kflnsf sfof{no

k|yd rf}dfl;s k|ult k|ltj]bg

qm=;++ If]q

hgljsfz pRr df=lj= 665033.00

s]j^ ;d'bfo ejg lgdf)f{ 166436.00

lqd'lt{ kydf gfnf tyf lkr 1005708.00

zfGtdfu{df gfnf Pj+ ;*s 1590945.00 1540564.00

15/16 l;dfgf kf~rfln gx/ 

kZlrd gfnf
2041305.00 1991005.00

lzjfnodfu{df cw'/f] sfo{ 1363656.00

k|lts dfu{df lkr 566990.00 597256.00

d=df]=cf=j=SofDk; kvf{n 

lgdf)f{
197696.00

ECO Children Prk 1500000.00

jg:ktL kfs{ 1600000.00 4207808.00

cGosf] s"n hDdf 11027751

136237751

tof/ ug]{ ?h" ug]{ :jLs[t ug]{

kb M kb M kb M

ldlt M ldlt M ldlt M

gfd M gfd M gfd M

k"jf{wf/ 

ljsf;

s'n hDdf
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